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a) lonly

b) 2and3only

c¢) 1,2and3

d) None of the above

Q.75) Consider the following:

1. Library services

Distribution of electricity

Cotton for khadi yarn

Sale of Advertisement space in print media
Schooling up to higher secondary level
Wh|ch of the above items is/are exempt under GST
(Goods and Services Tax)?

a) 1,3and4only

b) 1,2,3and5only

c) 2,3and4only

d) 1,2and 3 only
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Q.76) The Fiscal Responsibility and Budget

Management Act (FRBM),2003 was amended in

2018. It inserted the “escape clause” that allows the

government to go above the fiscal deficit target set

for the year during some extraordinary

circumstances. The Act provides for triggering of the

escape clause under which of the following

circumstances?

1. National security

2. Collapse of agriculture severely affecting farm
outputs

3. Structural reforms in the economy with
anticipated fiscal implications

4. Decline in real output growth of a quarter by at
least 6 per cent points below its average of the
previous four quarters

Select the correct answer using the code given

below:

a) land2only

b) 1,2 and 3 only

c) 3and4only

d) 1,2,3and4

Q.77) Which of the following statements is/are

correct about Active Pharmaceutical Ingredients

(API1)?

1. Itisthe biologically active component of a drug
product that produces the intended effects.

2. The primary chemical which undergoes reactions
to form an APl is called a Drug Intermediary.

3. Ingeneral, when an APl is mixed with an
excipient, it is not considered an APl anymore.

4. Recently, India has become self-sufficient in the
production of all APIs.
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Select the correct answer using the code given
below:

a) land4only

b) 1and3only

¢) 1,2and3only

d) 2,3and 4 only

Q.78)

Consider the following pairs:
Disputed Territory in News Countries Involved
Senkaku Islands | Japan and China
Natuna Islands China and Philippines

Kuril Islands Russia and China

Chagos Island United Kingdom and Mauritius

Which of the above pairs are incorrectly matched?

a) land3only
b) 1and 4 only
c) 2and3only
d) 2and4only

Q.79) Which of the following conventions of the

International Labour Organization (ILO)

have not been ratified by India?

1. Freedom of Association and Protection of the
Right to Organise Convention

2. Right to Organize and Collective Bargaining
Convention

3. The Discrimination (Employment and Occupation)
Convention

4. The Worst Forms of Child Labour convention

Select the correct answer using the code given

below:

a) land2only

b) 2and3only

c¢) 1,2and 3 only

d) 1,3and4only

Q.80) Which of the following Tiger reserves is
geographically closest to the Udanti Sitanadi Tiger
Reserve?

a) Melghat Tiger Reserve

b) Pakhui Tiger Reserve

¢) Tadoba-Andhari TigerReserve

d) Indravati Tiger Reserve

Q.81) With reference to India’s biodiversity, what
are Argali, Goral and Serow types of?

a) Ungulates

b) Crustaceans

c) Reptiles



